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In any A ABC, the following relationship holds :
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Proposed by Zaza Mzhavanadze-Georgia

Solution by Soumava Chakraborty-Kolkata-India

m, +mp, wp,+ w, hc+ha<ma+mb m,+m. m,+m,
Wy + W, h,+h, m,+my~ hy+h h.+h, h, + hy

my,+m.+m, —m 1 m
:Z bT ™ Ta aS(4R+r)Z - a
h.+h, h.+h, o h.+h,

cyc cyc

< 2R(4R + )Z ! Z h,
= Y/ bc+a) h, +h,

_ 9R(4R Z ca(b + Yeycab) Z Cesaro
= 2R(4R+1) abc(a + b)(b + c)(c +a) ab + bc -
cyc

2R(4R+r) c2  Bergstrom
T e IR DI B B
cyc cyc cyc
8R(4R + 1) 202 4s? Goldstone
8. 16R?r7s? £, O TS I ARr+r2+2(s2—4Rr—r?) =
8R(4R + r).4R?s? 4s?
8.16R2r2s? " 3sZ_4Rr—r?
RMAR+TD) 4s? 2 0 <z (5)3 ~ 6>
4y2 3s2—4Rr—-r2~ '\8'\r

?
& (63R® — 24R%r — 6Rr? — 400r°)s? >
)

r(84R* — 11R3r — 16R?r? — 578Rr3 — 144r*)

63R3 — 24R?r — 6Rr2 — 400r3 > 0 and then :

Gerretsen
(63R3 — 24R%r — 6Rr? — 400r3)s? >
(63R® — 24R?r — 6Rr? — 400r3)(16Rr — 5r?)
?
> r(84R* — 11R3r — 16R?r? — 578Rr3 — 144r*)
R

?
& 231t* — 1723 + 10t? — 1448t + 536 > 0 (t ==

)
o (t-2) (231t3 +290t2 + 456t + 134(t — 2)) >0



ROMANIAN MATHEMATICAL MAGAZINE

Euler
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